Research Article



Journal of Nonlinear Science and Applications Print: ISSN 2008-1898 Online: ISSN 2008-1901



Some results about Krasnosel'skii-Mann iteration process

Hojjat Afshari^a, Hassen Aydi^{b,c,*}

^aFaculty of Basic Science, University of Bonab, Bonab, Iran.

^bDepartment of Mathematics, College of Education of Jubail, University of Dammam, P. O. 12020, Industrial Jubail 31961, Saudi Arabia.

^cDepartment of Medical Research, China Medical University Hospital, China Medical University, Taichung, Taiwan.

Communicated by W. Shatanawi

Abstract

We introduce a Mann type iteration method and give a result about strongly convergence of this iteration method to a fixed point of nonexpansive mappings on Banach spaces. Also, by using idea of Ishikawa iteration method, we introduce a new iteration method via two mappings on uniformly convex Banach spaces and we provide a result about strongly convergence of the iteration method to a common fixed points of the mappings. $\bigcirc 2016$ All rights reserved.

Keywords: Fixed point, Krasnosel'skiĭ-Mann iteration, nonexpansive mapping. 2010 MSC: 47H10, 54H25.

1. Introduction

In 1953, Mann [11] defined an iterative method. Let C be a nonempty convex subset of a linear space X. Let $\{\alpha_n\}_{n\geq 1}$ be a sequence in [0,1) satisfying $\sum_{n=1}^{\infty} \alpha_n = \infty$. Consider T a selfmap on C and $x_1 \in C$. Define a sequence $\{x_n\}_{n\geq 1}$ in C by

 $x_{n+1} = M(x_n, \alpha_n, T) = (1 - \alpha_n)x_n + \alpha_n T x_n$

^{*}Corresponding author

Email addresses: hojat.afshari@yahoo.com, hojat.afshari@bonabu.ac.ir (Hojjat Afshari), hmaydi@uod.edu.sa (Hassen Aydi)

for all $n \ge 1$. Then the sequence $\{x_n\}_{n\ge 1}$ is called the Mann iteration. In 1955, Krasnosel'skiĭ [10] defined a modified Mann iteration method. Let $\{\alpha_n\}_{n\ge 1}$ be a sequence in [0, 1) satisfying $\sum_{n=1}^{\infty} \alpha_n = \infty$ and $0 < a \le \alpha_n \le b < 1$ for some constants a and b. Then the sequence $\{x_n\}_{n\ge 1}$ defined by

$$x_{n+1} = M(x_n, \alpha_n, T) = (1 - \alpha_n)x_n + \alpha_n T^n x_n$$

is called a modified Mann iteration. Later, Ishikawa [7] defined an iteration method in 1974. Let $x_1 \in C$. Take $\{\alpha_n\}_{n\geq 1}$ and $\{\beta_n\}_{n\geq 1}$ two sequences in [0, 1] satisfying $\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty$, $\lim_{n\to\infty} \beta_n = 0$ and $0 \leq \alpha_n \leq \beta_n \leq 1$ for all $n \geq 1$. Then the sequence $\{x_n\}_{n\geq 1}$ defined by

$$x_{n+1} = (1 - \alpha_n)x_n + \alpha_n T y_n,$$

$$y_n = (1 - \beta_n)x_n + \beta_n T x_n,$$

is called the Ishikawa iteration. The following definition is needed in the sequel.

Definition 1.1. Let X be a Banach space and $T: X \to X$ a selfmap. We have the following:

- (i) T is called nonexpansive if $||Tx Ty|| \le ||x y||$ for all $x, y \in X$.
- (ii) Let X^* be the dual of a Banach space X. Then a multivalued mapping $J: X \to 2^{X^*}$ is said to be a (normalized) duality mapping, where for each $x \in X$,

$$Jx = \{ j \in X^* : j(x) = \langle x, j \rangle = \|x\|^2 = \|j\|^2 \}.$$

- (iii) T is said pseudocontractive if $||x y|| \le ||(1 + t)(x y) t(Tx Ty)||$ for all $x, y \in X$ and t > 0.
- (iv) T is called Lipschitzian if for all $x, y \in X$, there exists k > 0 such that

$$||Tx - Ty|| \le k ||x - y||.$$

(v) T is called Lipschitzian pseudocontractive whenever T is Lipschitzian and pseudocontractive.

Remark 1.2. A nonexpansive mapping is continuous.

In 1976, Ishikawa [8] proved some results about fixed points of nonexpansive mappings by using his iteration method. Later, by using this idea and variant modified Mann iteration methods, some authors established many results about fixed points of strictly pseudocontractive mappings [3], common fixed points of an infinite family of nonexpansive mappings [5, 12] and asymptotically nonexpansive mappings [4, 6, 9, 13, 14].

In this paper, we introduce a Mann type iteration method. Using it, we give a result about strongly convergence of the iteration method to a fixed point of nonexpansive mappings. Also, by using the idea of Ishikawa iteration method, we introduce a new iteration method via two mappings on uniformly convex Banach spaces and we prove a result about strongly convergence of the iteration method to a common fixed points of the mappings.

The following results will be needed in the sequel.

Lemma 1.3 ([1]). Let $\{x_n\}$ and $\{y_n\}$ be two sequences in a uniformly convex Banach space X such that $x_{n+1} = (1-\alpha_n)x_n + \alpha_n y_n$ and $||y_n|| \le ||x_n||$ for all $n \ge 1$, where $\{\alpha_n\}$ is a sequence of nonnegative numbers in [0,1] such that $\sum_{n=1}^{\infty} \min\{\alpha_n, 1-\alpha_n\} = \infty$. Then $0 \in \overline{\{x_n - y_n, n \ge 1\}}$.

Lemma 1.4 ([2]). Let $\delta \in [0,1)$ and $\{\varepsilon_n\}_{n\geq 1}$ be a positive sequence satisfying $\lim_{n\to\infty} \varepsilon_n = 0$. Then, for any positive sequence $\{u_n\}_{n\geq 1}$ satisfying $u_{n+1} \leq \delta u_n + \varepsilon_n$, it follows that $\lim_{n\to\infty} u_n = 0$.

2. Main results

Now, we are ready to state our main results via Mann type and Krasnosel'skiĭ type iterations.

2.1. Strong convergence to a fixed point of nonexpansive selfmaps on nonempty convex closed subset of a Banach space X

First, we introduce a Mann type iteration method.

Definition 2.1. Let *C* be a nonempty convex subset of a linear space *X*. Let $\{\alpha_n\}_{n\geq 1}, \{\beta_n\}_{n\geq 1}$ and $\{\gamma_n\}_{n\geq 1}$ be three sequences in [0, 1) satisfying $\alpha_n + \beta_n + \gamma_n = 1$ for all $n \geq 1$, $\sum_{n=1}^{\infty} (1 - \alpha_n) = \infty$ and $\sum_{n=1}^{\infty} \gamma_n < \infty$. Consider *T* as a selfmap on *C* and $x_1 \in C$. Define a sequence $\{x_n\}_{n\geq 1}$ in *C* by

$$x_{n+1} = GM(x_n, \alpha_n, \beta_n, \gamma_n, T) = \alpha_n x_n + \beta_n T x_n + \gamma_n T^2 x_n$$

for all $n \ge 1$. Then the sequence $\{x_n\}_{n\ge 1}$ is called a Mann type iteration.

Note that, $GM(x_n, \alpha_n, \beta_n, \gamma_n, T) \in conv(C) = C$ for all $n \ge 1$. If $\gamma_n = 0$ for all $n \ge 1$, then the Mann type iteration is reduced to the Mann iteration. Let C be a nonempty convex closed subset of a Banach space X and T be a continuous selfmap on C. It has been proved that if the Mann iteration $\{x_n\}_{n\ge 1}$ converges strongly to a point $p \in C$, then p is a fixed point of T. Now, we prove it for our Mann type iteration on nonexpansive mappings.

Theorem 2.2. Let C be a nonempty convex closed subset of a Banach space X and T be a nonexpansive selfmap on C. If the Mann type iteration $\{x_n\}_{n\geq 1}$ converges strongly to a point $p \in C$, then p is a fixed point of T.

Proof. Assume that $\{x_n\}_{n\geq 1}$ converges to p. To prove that p is a fixed point of T, we argue by contradiction. Suppose that $p \neq Tp$. Define $\varepsilon_n := x_n - Tx_n - (p - Tp)$ and $\delta_n := T^2x_n - Tx_n - (T^2p - Tp)$ for all $n \geq 1$. The map T is nonexpansive and for all n we have

$$\|\varepsilon_n\| \le \|x_n - Tx_n - (p - Tp)\| \le \|x_n - p\| + \|Tx_n - Tp\| \le 2\|x_n - p\|,$$

and

$$\|\delta_n\| \le \|T^2 x_n - T^2 p - (Tx_n - Tp)\| \le \|T^2 x_n - T^2 p\| + \|Tx_n - Tp\| \le 2\|x_n - p\|.$$

Since $\lim_{n \to \infty} x_n = p$, we find that $\lim_{n \to \infty} \varepsilon_n = 0$ and $\lim_{n \to \infty} \delta_n = 0$. Due to the fact that || p - Tp || > 0, there exists a natural number n_0 such that $|| \varepsilon_n || < \frac{||p - Tp||}{3}$, $|| \delta_n || < \frac{||p - Tp||}{2}$ and $|| x_n - x_m || < \frac{||p - Tp||}{7}$ for all $n, m \ge n_0$. Choose a natural number N such that $\sum_{i=n_0}^{n_0+N} (1 - \alpha_i) \ge 1$ and $\sum_{i=n_0}^{n_0+N} \gamma_i \le \frac{1}{3}$. Note that

$$\begin{aligned} x_{i+1} - x_i &= \alpha_i x_i + \beta_i T x_i + \gamma_i T^2 x_i - \alpha_{i-1} x_{i-1} - \beta_{i-1} T x_{i-1} - \gamma_{i-1} T^2 x_{i-1} \\ &= \alpha_i x_i - \alpha_i T x_i + \alpha_i T x_i - \alpha_{i-1} x_{i-1} + \beta_i T x_i - \beta_{i-1} T x_{i-1} \\ &+ \gamma_i T^2 x_i - \gamma_i T x_i + \gamma_i T x_i - \gamma_{i-1} T^2 x_{i-1} \\ &= \alpha_i x_i - \alpha_i T x_i + (\alpha_i T x_i + \beta_i T x_i + \gamma_i T x_i) - (\alpha_{i-1} x_{i-1} + \beta_{i-1} T x_{i-1} + \gamma_{i-1} T^2 x_{i-1}) \\ &+ \gamma_i T^2 x_i - \gamma_i T x_i \\ &= \alpha_i x_i - \alpha_i T x_i + T x_i (\alpha_i + \beta_i + \gamma_i) - x_i + \gamma_i T^2 x_i - \gamma_i T x_i \\ &= \alpha_i (x_i - T x_i) + T x_i - x_i + \gamma_i (T^2 x_i - T x_i) \\ &= (1 - \alpha_i) (T x_i - x_i) + \gamma_i (T^2 x_i - T x_i). \end{aligned}$$

Therefore,

$$\| x_{n_0} - x_{n_0+N+1} \| = \| \sum_{i=n_0}^{n_0+N} (x_i - x_{i+1}) \|$$

$$= \| \sum_{i=n_0}^{n_0+N} ((1 - \alpha_i)(p - Tp + \varepsilon_i) + \gamma_i(T^2p - Tp + \delta_i)) \|$$

$$\geq \| \sum_{i=n_0}^{n_0+N} (1 - \alpha_i)(p - Tp) \| - \| \sum_{i=n_0}^{n_0+N} (1 - \alpha_i)\varepsilon_i \|$$

$$- \| \sum_{i=n_0}^{n_0+N} \gamma_i(T^2p - Tp) \| - \| \sum_{i=n_0}^{n_0+N} \gamma_i\delta_i \|$$

$$\geq \sum_{i=n_0}^{n_0+N} (1 - \alpha_i)(\| p - Tp \| - \frac{\| p - Tp \|}{3})$$

$$- \sum_{i=n_0}^{n_0+N} \gamma_i(\| p - Tp \| + \| \delta_i \|)$$

$$\geq 2 \frac{\| p - Tp \|}{3} - \frac{\| p - Tp \|}{2} = \frac{\| p - Tp \|}{6}.$$

This contradiction completes the proof.

Question. Does above result hold for the continuous mappings?

2.2. Strong convergence to a common fixed point of nonexpansive maps from nonempty closed convex bounded subsets C of a uniformly convex Banach space X into a compact subset of C

Now, let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and T be a nonexpansive mapping from C into a compact subset of C. Taking $x_1 \in C$, Krasnosel'skiĭ [10] proved that the sequence $\{x_n\}_{n\geq 1}$ defined by

$$x_{n+1} = \frac{1}{2}(x_n + Tx_n) = M(x_n, \frac{1}{2}, T)$$

converges strongly to a fixed point of T [1, Theorem 6.4.1]. Now, we extend it by using two nonexpansive mappings.

Theorem 2.3. Let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and $x_1 \in C$. Let T_1 and T_2 be two nonexpansive mappings from C into a compact subset of C with $F(T_1) \cap F(T_2) \neq \phi$. If $|| x_n - T_1x_n || \rightarrow 0$ or $|| x_n - T_2x_n || \rightarrow 0$, then the sequence $\{x_n\}$ defined by $x_{n+1} = \frac{1}{4}(2x_n + T_1x_n + T_2x_n)$ converges strongly to a common fixed point of T_1 and T_2 .

Proof. Let $p \in F(T_1) \cap F(T_2)$. Then, for each $n \ge 1$ we have

$$\| 2x_{n+1} - T_1 x_{n+1} - T_2 x_{n+1} \| \leq \frac{1}{2} [\| 2x_n - T_1 x_n - T_2 x_n \| \\ + 2 \| T_1 x_n + T_2 x_n - T_1 x_{n+1} - T_2 x_{n+1} \|] \\ \leq \frac{1}{2} \| 2x_n - T_1 x_n - T_2 x_n \| + 2 \| x_n - x_{n+1} \| \\ = \frac{1}{2} \| 2x_n - T_1 x_n - T_2 x_n \| + \frac{1}{2} \| 2x_n - T_1 x_n - T_2 x_n \| \\ = \| 2x_n - T_1 x_n - T_2 x_n \| .$$

Hence, $\{\| 2x_n - T_1x_n - T_2x_n \|\}_{n \ge 1}$ is a nonincreasing sequence and so it converges. Now, note that

$$x_{n+1} - p = \frac{1}{4}(2x_n + T_1x_n + T_2x_n - 4p) = \frac{1}{4}[2(x_n - p) + (T_1x_n + T_2x_n - 2p)]$$

= $\frac{1}{2}(x_n - p) + \frac{1}{2}(\frac{1}{2}T_1x_n + \frac{1}{2}T_2x_n - p).$

Since $\|\frac{1}{2}T_1x_n + \frac{1}{2}T_2x_n - p\| \le \|x_n - p\|$, by using Lemma 1.3, we deduce that $\liminf_{n \to \infty} \|2x_n - T_1x_n - T_2x_n\| = 0.$

Suppose that $\lim_{n\to\infty} ||x_n - T_1x_n|| = 0$. Since $\{T_1x_n\}$ is a sequence in a compact set, there exist a subsequence $\{T_1x_{n_k}\}$ of $\{T_1x_n\}$ and $v \in C$ such that $T_1x_{n_k} \to v$. Again, $\lim_{k\to\infty} ||x_{n_k} - T_1x_{n_k}|| = 0$, so $x_{n_k} \to v$ as $k \to \infty$. The map T_1 is continuous, hence v is a fixed point of T_1 . But,

$$||| x_n - T_2 x_n || - || x_n - T_1 x_n ||| \le || 2x_n - T_1 x_n - T_2 x_n ||$$

for all $n \ge 1$. Hence, we have $\lim_{n \to \infty} ||x_n - T_2 x_n|| = 0$. This implies that v is a fixed point of T_2 . On the other hand, X is a uniformly convex Banach space, then $\lim_{n \to \infty} ||x_n - v|| = \lim_{k \to \infty} ||x_{nk} - v|| = 0$. Therefore, the sequence $\{x_n\}$ converges strongly to a common fixed point of T_1 and T_2 .

Remark 2.4. If $T_1 = T_2$, then our iteration method is reduced to $M(x_n, \frac{1}{2}, T_1)$, that is, the main result of Krasnosel'skiĭ [10].

Theorem 2.5. Let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and $x_1, y_1 \in C$. Let T_1 and T_2 be two nonexpansive mappings from C into a compact subset of C with $F(T_1) \cap F(T_2) \neq \emptyset$. Define the sequences $\{x_n\}_{n\geq 1}$ and $\{y_n\}_{n\geq 1}$ by $x_{n+1} = \frac{1}{2}(x_n + T_1(z_n))$ and $y_{n+1} = \frac{1}{2}(y_n + T_2(z_n))$, where $z_n = \frac{1}{2}(x_n + y_n)$. If $|| z_n - T_1 z_n || \to 0$ or $|| z_n - T_2 z_n || \to 0$, then the sequences $\{x_n\}_{n\geq 1}$ and $\{y_n\}_{n\geq 1}$ converge strongly to a common fixed point of T_1 and T_2 .

Proof. First, we write $z_{n+1} = \frac{1}{4}(2z_n + T_1(z_n) + T_2(z_n))$ for all $n \ge 1$. By using Theorem 2.3, $\{z_n\}$ converges strongly to a common fixed point of T_1 and T_2 . On the other hand, we have

$$\| x_{n+1} - y_{n+1} \| = \frac{1}{2} \| x_n - y_n + T_1(\frac{x_n + y_n}{2}) - T_2(\frac{x_n + y_n}{2}) \|$$

$$\leq \frac{1}{2} \| x_n - y_n \| + \frac{1}{2} \| T_1(\frac{x_n + y_n}{2}) - T_2(\frac{x_n + y_n}{2}) \| .$$

But,

$$\| T_1(\frac{x_n + y_n}{2}) - T_2(\frac{x_n + y_n}{2}) \| = \| T_1(z_n) - T_2(z_n) \|$$

$$\leq \| T_1(z_n) - z_n \| + \| z_n - T_2(z_n) \|$$

Since $\{z_n\}$ converges to a common fixed point of T_1 and T_2 , by continuity of T_1 and T_2 , the right handside converges to 0. Hence, by Lemma 1.4, we obtain $\lim_{n\to\infty} ||x_n - y_n|| = 0$. Therefore, the sequences $\{x_n\}$ and $\{y_n\}$ converge to a common fixed point of T_1 and T_2 .

Again, by using similar proofs, we can prove the following results. First, as Theorem 2.3, we state:

Theorem 2.6. Let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and $x_1 \in C$. Let T_1 , T_2 and T_3 be nonexpansive mappings from C into a compact subset of C with $F(T_1) \cap F(T_2) \cap F(T_3) \neq \phi$. Define the sequence $\{x_n\}_{n\geq 1}$ by $x_{n+1} = \frac{1}{6}(3x_n + T_1x_n + T_2(x_n) + T_3(x_n))$ for all $n \geq 1$. Suppose also that one of the following statements holds:

(i) $||x_n - T_1 x_n|| \to 0 \text{ and } ||x_n - T_2 x_n|| \to 0;$

- (ii) $||x_n T_1x_n|| \rightarrow 0$ and $||x_n T_3x_n|| \rightarrow 0$;
- (iii) $||x_n T_2 x_n|| \to 0 \text{ and } ||x_n T_3 x_n|| \to 0.$

Then the sequence $\{x_n\}$ converges strongly to a common fixed point of T_1 , T_2 and T_3 .

Similar to Theorem 2.5, we state the following result:

Theorem 2.7. Let C be a nonempty closed convex bounded subset of a uniformly convex Banach space X and $x_1, y_1, z_1 \in C$. Let T_1, T_2 and T_3 be nonexpansive mappings from C into a compact subset of C with $F(T_1) \cap F(T_2) \cap F(T_3) \neq \emptyset$. Define the sequences $\{x_n\}_{n\geq 1}, \{y_n\}_{n\geq 1}$ and $\{z_n\}_{n\geq 1}$ by

$$\begin{split} x_{n+1} &= \frac{1}{2} (x_n + T_1(\frac{x_n + y_n + z_n}{3})), \\ y_{n+1} &= \frac{1}{2} (y_n + T_2(\frac{x_n + y_n + z_n}{3})), \\ z_{n+1} &= \frac{1}{2} (z_n + T_3(\frac{x_n + y_n + z_n}{3})), \end{split}$$

for all $n \ge 1$. Suppose also that one of the following statements holds:

- (i) $\| \frac{x_n + y_n + z_n}{3} T_1(\frac{x_n + y_n + z_n}{3}) \| \to 0 \text{ and } \| \frac{x_n + y_n + z_n}{3} T_2(\frac{x_n + y_n + z_n}{3}) \| \to 0;$
- (ii) $\| \frac{x_n + y_n + z_n}{3} T_1(\frac{x_n + y_n + z_n}{3}) \| \to 0 \text{ and } \| \frac{x_n + y_n + z_n}{3} T_3(\frac{x_n + y_n + z_n}{3}) \| \to 0;$
- (iii) $\| \frac{x_n + y_n + z_n}{3} T_2(\frac{x_n + y_n + z_n}{3}) \| \to 0 \text{ and } \| \frac{x_n + y_n + z_n}{3} T_3(\frac{x_n + y_n + z_n}{3}) \| \to 0.$

Then the sequences $\{x_n\}_{n\geq 1}$, $\{y_n\}_{n\geq 1}$ and $\{z_n\}_{n\geq 1}$ converge strongly to a common fixed point of T_1 , T_2 and T_3 .

2.3. Strong convergence to a common fixed point of two Lipschitzian pseudocontractive mappings on Hilbert spaces

Here, by using above idea, we provide another new iteration method in order to obtain a strongly convergent sequence to a common fixed point of two Lipschitzian pseudocontractive mappings on Hilbert spaces.

Definition 2.8. Let *C* be a nonempty convex subset of a linear space *X* and $x_1 \in C$. Let T_1 and T_2 be two selfmaps on *C* and $\{\alpha_n\}_{n\geq 1}$, $\{\beta_n\}_{n\geq 1}$, $\{\alpha'_n\}$ and $\{\beta'_n\}$ be four sequences in [0, 1] satisfying $\sum_{n=1}^{\infty} \alpha_n \beta_n = \infty$, $\lim_{n\to\infty} \beta_n = 0$, $\lim_{n\to\infty} \beta'_n = 0$, $0 \le \alpha_n \le \beta_n \le 1$ and $0 \le \alpha'_n \le \beta'_n \le 1$ for all $n \ge 1$. Now, define the sequence $\{x_n\}_{n\geq 1}$ by

$$x_{n+1} = \frac{1}{2}((1 - \alpha_n)x_n + \alpha_n T_1 y_n) + \frac{1}{2}((1 - \alpha'_n)x_n + \alpha'_n T_2 z_n),$$

$$y_n = (1 - \beta_n)x_n + \beta_n T_1 x_n,$$

$$z_n = (1 - \beta'_n)x_n + \beta'_n T_2 x_n.$$

We denote this iteration method by $x_{n+1} = R(x_n, \alpha_n, \beta_n, \alpha'_n, \beta'_n, T_1, T_2)$.

Theorem 2.9. Let C be a nonempty compact convex subset of a Hilbert space H. Let T_1 and T_2 be two Lipschitzian pseudocontractive selfmaps on C such that $F(T_1) \cap F(T_2) \neq \emptyset$. Then the sequence

$$\{R(x_n, \alpha_n, \beta_n, \alpha'_n, \beta'_n, T_1, T_2)\}$$

converges strongly to a common fixed point of T_1 and T_2 .

Proof. Let $p \in F(T_1) \cap F(T_2)$. Then we have

$$x_{n+1} = \frac{1}{2}((1 - \alpha_n)x_n + \alpha_n T_1((1 - \beta_n)x_n + \beta_n T_1 x_n)) + \frac{1}{2}((1 - \alpha'_n)x_n + \alpha'_n T_2((1 - \beta'_n)x_n + \beta'_n T_2 x_n)).$$

Therefore,

$$\| x_{n+1} - p \|^{2} \leq \frac{1}{4} \| (1 - \alpha_{n})x_{n} + \alpha_{n}T_{1}((1 - \beta_{n})x_{n} + \beta_{n}T_{1}x_{n}) - p \|^{2} + \frac{1}{2} \\ \times \| (1 - \alpha_{n})x_{n} + \alpha_{n}T_{1}((1 - \beta_{n})x_{n} + \beta_{n}T_{1}x_{n}) - p \| \\ \times \| (1 - \alpha'_{n})x_{n} + \alpha'_{n}T_{2}((1 - \beta'_{n})x_{n} + \beta'_{n}T_{2}x_{n}) - p \| \\ + \frac{1}{4} \| (1 - \alpha'_{n})x_{n} + \alpha'_{n}T_{2}((1 - \beta'_{n})x_{n} + \beta'_{n}T_{2}x_{n}) - p \|^{2}.$$

Since $xy \leq \frac{x^2}{2} + \frac{y^2}{2}$, we obtain

$$\| x_{n+1} - p \|^{2} \leq \frac{1}{2} \| (1 - \alpha_{n})x_{n} + \alpha_{n}T_{1}((1 - \beta_{n})x_{n} + \beta_{n}T_{1}x_{n}) - p \|^{2}$$

$$+ \frac{1}{2} \| (1 - \alpha'_{n})x_{n} + \alpha'_{n}T_{2}((1 - \beta'_{n})x_{n} + \beta'_{n}T_{2}x_{n}) - p \|^{2}$$

$$\leq \frac{1}{2}(\| x_{n} - p \|^{2}$$

$$- \alpha_{n}\beta_{n}(1 - 2\beta_{n})\| x_{n} - T_{1}x_{n} \|^{2} - \alpha_{n}(\beta_{n} - \alpha_{n})\| x_{n} - T_{1}y_{n} \|^{2}$$

$$+ \alpha_{n}\beta_{n}\| T_{1}x_{n} - T_{1}y_{n} \|^{2}) + \frac{1}{2}(\| x_{n} - p \|^{2}$$

$$- \alpha'_{n}\beta'_{n}(1 - 2\beta'_{n})\| x_{n} - T_{2}x_{n} \|^{2}$$

$$- \alpha'_{n}(\beta'_{n} - \alpha'_{n})\| x_{n} - T_{2}z_{n} \|^{2} + \alpha'_{n}\beta'_{n}\| T_{2}x_{n} - T_{2}z_{n} \|^{2}).$$

In view of the fact that $\alpha_n \leq \beta_n$ and $\alpha'_n \leq \beta'_n$ for all $n \geq 1$, we deduce that

$$\|x_{n+1} - p\|^{2} \leq \frac{1}{2} (\|x_{n} - p\|^{2} - \alpha_{n}\beta_{n}(1 - 2\beta_{n})\|x_{n} - T_{1}x_{n}\|^{2} + \alpha_{n}\beta_{n}\|T_{1}x_{n} - T_{1}y_{n}\|^{2}) + \frac{1}{2} (\|x_{n} - p\|^{2} - \alpha'_{n}\beta'_{n}(1 - 2\beta'_{n})\|x_{n} - T_{2}x_{n}\|^{2} + \alpha'_{n}\beta'_{n}\|T_{2}x_{n} - T_{2}z_{n}\|^{2}).$$

$$(2.1)$$

Suppose that T_1 and T_2 are η_1 -Lipschitzian and η_2 -Lipschitzian mappings, respectively. Then

$$|T_1x_n - T_1y_n| \le \eta_1 || x_n - y_n || \le \eta_1 \beta_n || x_n - T_1x_n ||,$$

| $T_2x_n - T_2z_n || \le \eta_2 || x_n - z_n || \le \eta_2 \beta'_n || x_n - T_2x_n ||.$

Hence, by using (2.1), we have

$$\| x_{n+1} - p \|^{2} \leq \frac{1}{2} (\| x_{n} - p \|^{2} - \alpha_{n}\beta_{n}(1 - 2\beta_{n} - \eta_{1}^{2}\beta_{n}^{2}) \| x_{n} - T_{1}x_{n} \|^{2})$$

$$+ \frac{1}{2} (\| x_{n} - p \|^{2} - \alpha'_{n}\beta'_{n}(1 - 2\beta'_{n} - \eta_{2}^{2}\beta'_{n}^{2}) \| x_{n} - T_{2}x_{n} \|^{2}).$$

Having in mind that $\lim_{n\to\infty} \beta_n = 0$ and $\lim_{n\to\infty} {\beta'}_n = 0$, there exists a natural number n_0 such that $2\beta_n + \eta_1^2 \beta_n^2 \leq \frac{1}{2}$ and $2{\beta'}_n + \eta_2^2 {\beta'}_n^2 \leq \frac{1}{2}$ for all $n \geq n_0$. Hence,

$$||x_{n+1} - p||^{2} \le ||x_{n} - p||^{2} - \frac{1}{4}\alpha_{n}\beta_{n} ||x_{n} - T_{1}x_{n}||^{2} - \frac{1}{4}\alpha'_{n}\beta'_{n} ||x_{n} - T_{2}x_{n}||^{2}).$$

This implies that

$$\frac{1}{4} \sum_{i=n_0}^{n} (\alpha_i \beta_i \| x_i - T_1 x_i \|^2 + \alpha'_i \beta'_i \| x_i - T_2 x_i \|^2) \le \| x_{n_0} - p \|^2 - \| x_{n+1} - p \|^2$$

for all $n \ge n_0$. Since C is bounded, $||x_{n+1} - p||$ is a bounded sequence. Thus, the series

$$\sum_{i=1}^{\infty} (\alpha_i \beta_i \| x_i - T_1 x_i \|^2 + \alpha'_i \beta'_i \| x_i - T_2 x_i \|^2)$$

is convergent. This yields that

$$\lim_{n \to \infty} \| x_n - T_1 x_n \| = 0 \quad \text{and} \quad \lim_{n \to \infty} \| x_n - T_2 x_n \| = 0.$$

Now, by using a similar proof in the last part of Theorem 2.3, one can show that the sequence converges strongly to a common fixed point of T_1 and T_2 .

References

- R. P. Agarwal, D. O'Regan, D. R. Sahu, Fixed point theory for Lipschitzian-type mappings with applications, Springer, New York, (2009). 1.3, 2.2
- [2] V. Berinde, On the stability of some fixed point procedures, Bul. Ştiinţ. Univ. Baia Mare Ser. B Fasc. Mat.-Inform., 18 (2002), 7–14. 1.4
- [3] V. Berinde, M. Berinde, The fastest Krasnoselskij iteration for approximating fixed points of strictly pseudocontractive mappings, Carpathian J. Math., 21 (2005), 13–20. 1
- [4] C. E. Chidume, N. Shahzad, H. Zegeye, Convergence theorems for mappings which are asymptotically nonexpansive in the intermediate sense, Numer. Funct. Anal. Optim., 25 (2004), 239–257. 1
- [5] W. Q. Deng, A modified Mann iteration process for common fixed points of an infinite family of nonexpansive mappings in Banach spaces, Appl. Math. Sci. (Ruse), 4 (2010), 1521–1526. 1
- [6] N. Hussain, G. Marino, L. Muglia, B. A. S. Alamri, On some Mann's type iterative algorithms, Fixed Point Theory Appl., 2015 (2015), 16 pages. 1
- [7] S. Ishikawa, Fixed points by a new iteration method, Proc. Amer. Math. Soc., 44 (1974), 147–150. 1
- [8] S. Ishikawa, Fixed points and iteration of a nonexpansive mapping in a Banach space, Proc. Amer. Math. Soc., 59 (1976), 65–71.
- [9] T. H. Kim, H. K. Xu, Convergence of the modified Mann's iteration method for asymptotically strict pseudocontractions, Nonlinear Anal., 68 (2008), 2828–2836. 1
- [10] M. A. Krasnosel'skii, Two remarks on the method of successive approximations, (Russian) Uspehi Mat. Nauk (N.S.), 10 (1955), 123–127. 1, 2.2, 2.4
- [11] W. R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc., 4 (1953), 506–510. 1
- [12] S. Plubtieng, R. Wangkeeree, Strong convergence of modified Mann iterations for a countable family of nonexpansive mappings, Nonlinear Anal., 70 (2009), 3110–3118. 1
- [13] R. F. Rao, Strong convergence of a modified Mann iteration for a strictly asymptotically pseudocontractive map, (Chinese) Adv. Math. (China), 39 (2010), 283–288.
- [14] Y. Yao, R. Chen, Weak and strong convergence of a modified Mann iteration for asymptotically nonexpansive mappings, Nonlinear Funct. Anal. Appl., 12 (2007), 307–315. 1